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Analytical Ability
FAnE Fagsd
Marks : 75
Srdy o0 : 75

(i) Data Sufficiency (Marks : 20)
&grod Borgnd

Note :

In questions numbered 1 to 20, a question is followed by data in the form of two
statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the following guidelines :

(@)
(b)
()

(d)

Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement II alone is sufficient to answer the question.

Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

: 1508 20 S a)d (B8 @%;65}63 28 [9%), o> (308 I II ©d Hden o

Boh (HHSsren SeroFonT QDT OW. QWY dgrow), &HGIrNoW,
3N [BdSTer BHB [ 3ok dorgFren vPysodr Sor
© W& K)g"@ow@. & Sgdmé (808 {388 dr(@rey GHAIrNoW
(1) 908 (4) 8% HB oS 2y Jods BoHod :

(a)

(b)

(c)

(d)

(%)% Sdrerdo RTY0%E (HHSD0 I (S éwgé@wé D W2
(1) e HBoNok.

S Sdreedo 3B)odaS [PHddo II S| S3 K)U“5§§wo»@ D 2zaeen
(2) e thdobodk.

(BH S Sdrerdo 2To%% [ddSoren I IT 80d HoegHRow ewodS®
o .88 &ra Horgo 548 & warew (3) e HYoWod.

(% Srerdo aBodd @dvsre I, 1T god Erae HovgRo s°¥
w8dy Sgroko HOEL00E b wared (4) e Hoohod.
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If a is an integer and 100 < a < 200, what is the value of a ?

100 <2< 200 oydr a Yrgro&ond, a Jevd Jod?
I. When a is divided by 10, the remainder is 5.

ad 10 & A0S, 3R 5.
II. When ais divided by 8, the remainder is 3.

a8 & erNodme, B 3.

What is the value of 0 ?

0 DN o 7

18 sin20-1=0

What is the area of an equilateral triangle ?

2.8 O 200 (BHR) imogiuoé 7

L. Each angle of the triangle is 60°.

II. xand y are non-negative real numbers.

X, yeo HB$S 00 Somgen.
3 > S

P.T.O.
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6. What is the rate per metre length of the fencing of the rectangular field ?
28 B BEHYR 578D F|&7A8 EoBd Boherds 2.8 DHB E0DY IO o ?
I. The area of the field is 10,000 sq. metres.

38D F7ego 10,000 5.

II.  The total cost for fencing the field is Rs. 1,00,000
8 Bwdo 0% &r. 1,00,000. L’,

ElGER R
7.  What is the value of the non-negative integer a ?
SBSY Jrgroso a DD Do ?
L 32 divides 33886.
33886 < 3 22 AOD.
II. -~ 7*divides 2058.
2058 & 7 &7 A00. |

8. Isthe set A contained in the set of prime numbers ?
DB A, werreg Dogrg J8S” Gowow ?
j Every element of A is a positive real number.
oo Y L
A &9 (D8 rofhn 2.8 SO TR0 Dowg.

g}

' 1
1A Jw‘,\' eR|x< 4 for all positive integers n|

|
Acixe R | (©8 &S Qyrgeo8o n &», x < 3

9. Is the real number a, positive ?
9D Dowg a, P SyELr ?
L. sa =<0
I, a®>-5a+6<0 o 2.
10. Isita Sunday ?
W0 SO ER ?
L The same date in the previous year as a Friday.
(880 H0HSB0S® wE g HiEaS0 wowod.
I.  Itis 1* January 2088.
@ 2050 1, 2088. 2—
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11. The price of which of the mobile phones A and B is reduced more ?
TS P A 00w B ©&° B 00 5 Shosadod ?
L. The price of A is reduced by 10%
A 98 10% Shoswdod.
II.  The price of B is reduced by 12% L'_

B 20 12% $hob20d08.
n

12. If a, b and ¢ are distinct prime numbers, is a an even number ?

a, b, c ev DD @2 esg Joweeowd, a Hd Jowe wdHsooe ?
ol $ 2 )} D /
L. The product of a, b and c is even.
a } ~ Yy £Y5Y N Ny 6
a,0,C © OO0 VO r\)Oq)é.
II. The sum of b and c is odd. 2

IR SR04 Vam in
b, ¢ © S0 TV VoY,

S

13. Are a, b and c in arithmetic progression ?

5% Ho ol ?
A,
L. 5a, 5b and 5c are in arithmetic progression
5a, 5b, 5¢c &0 ®0¥ BFS® Hvmyow
1 2a, 3b and 4c¢ are in arithmetic progression. |

2a, 3b, 4c e @o¥ [RRS® Hvryow

14. Is n divisible by 720 ?
n % 720 eresir ?
5 n is divisible by 24 and 30.
n £ 24,30 ev wrasten.
I1. n=a(a+ 1)(a+2)(a+3)(a+4)(a+5) for some positive integer a.

2.

28 &89 ng"g*’oéo a®,n=ala+1)@a+2)a+3)(a+4)(a+)5).

15. Whatisa:b:c?
a:b:cooe ?
I. asb=2:

I1. b2 e=95"16 5

P.T.0.
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16. Forintegersaandb,isa>b?

Jrorostey a, b ©¥, a>b wyEoar ?
0

L la|>b

. |a|=b 8

17. What is the value of sin 0 ?
sin 0 Qe Does?

(sin® 0 0)
L. The matrix '

2 2 0 |is not invertible.
l.‘ 3 4
st 0 0
ﬁp[’usf i 2 2.0 1u)cw ) 57
\saa sy 4 1
IT. 0O lies in the second quadrant. \

8 Bo& oS’ HHB.

18. Does the natural number n divide 15n% + 8n + 6 ?

m P
= M

o 15n% + 8n + 6 £ Dz Dogg n sl ?
I. n divides 10
10 £ n 2reesEaw.
II. ndivides 3!

3! & n gra¥o.

19. Whatis £ A in the triangle ABC ?
(82%z20 ABC &° ZA do& ?
L LA=2/B
i3 LR =202 C 3

20. A and B are two sets. What are the elements of B ?
A, B & 3o HD&en. B S drosten O ?
L. A ~Bi= {1 20304 5)
I. A-B={7,8,9,10} Lf
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(ii) Problem Solving (Marks : 55)

(a) Sequence and Series (Marks : 25)

Note : In each of the questions numbered 21 to 35 a sequence of numbers or letters that follow
a definite pattern is given. Each question has a blank space. This has to be filled by the
correct answer from the four given options to complete the sequence without breaking
the pattern.

S 1 21 D Dod Do 35 Hod) VB o (D& @)é‘l@séﬁ B0 Dopgen MM, wEored
o 28 Léa'waxgé)oxé QONRAP) BT oW, (DS Lé%lé's@“, 28 O CIAR
TP DWYSTO ok IO LoNd 2N )5, BDED JoNArIE 2oro
SodHow Yrdowrd.

21. 4,7,19,67, , 1027

(1) 108 (2) 148 \;{259 @) 617

ER RS ety
2 s '26' 37

9 I 13 15

) ok 13 ) 35 \“{17
23. 2+4/5.9+4/5, , 161 + 7245

1) 18+16\(5 W 38+17\5 (3) 64+32/5 @) 72+64\5
24. ABD, EFH, , MNP, QRT

(1) GHI @) DK @ L @) JKM
25, 99y 163

1) 36 48 (3) 50 4 52
26. T W EE o

) “#p 2 E @ F 4 H
27, 510,26 500122, . _» 290362

(1) 140 @ 170 (3) 184 @) 226
28. 225 25,285 » 40

vi 33 2) 362 3) 342 4) 355

(1) 33 @) 363 (3) 34 @) 353
29. (2,0),(5,3),(10,8), \/

1y (13,11) ) (14,12) 3) (15, 13) 4 7,15

7 P.T.O.
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32.

35,

BAT, EDW, IHA,

(1) NMG (2) MNF 3)
, IHN, SRX, CBH

(1) YXE %) YXD 3)

ABC ZYX - BFG:

(1) ECB v®) DCB 3)

25, 49, 121, 225,

256 \({)

(1) 361 )

1800 : 1675 : : 3600 :

(1) 8275 )
2,-1,5,-7, )
()9 (2)

v

3450

-31

11 (3)

Note : In questions 36 to 45, pick the odd thing out.
BmS% 136 2008 45 D88 Ko (HH oS H0FFId Hgotod.

vh)

36. (1) 35

37 ALy 28 )

38. (1) FIHG 2)

39. (1) 80 2)

40. (1) Buscomplex Vé)
O] s*o’gggg

41. vﬂ> 275k )

42. \4 ) Hand ()
How

43. (1) *2+1=0

B) x+2%+5=0
4. (1) K 2)
45. (1) VIOLIN ®)

46 \6

65 (3)
KNML \/ﬁ)
99 (3)

Cinema hall (3)

DV FBew
2V?2 3)
Eye 3)
é:ﬁa
)
v
C 3)
VEENA (3)

NME %
XYD @)
DCA @)
529 4)
3350 )
Is v
72 (4)
126 \6)
RTUS )

120 v@

Railway station (4)
S
38 DA

2X4 4
Ear \4)
D)

2+3x+6=0

X2-x-12=0
¢ VG

MANDOLIN %)

16AL-83

NMF

YXF

FCB

676

3375

17

91

216
VYXW
163

Aerodrome

DérarFodo
276

Mouth
&

FLUTE
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(b)

46.

47.

48.

Data Analysis (Marks : 10)

Note for questions 46 to 50 :

Study the following Pie diagram and answer the questions 46 to 50 :
46 - 50 (25 0% eSS
(80od D (Pie) D¢y, HOBOOD (D en 46 - 50 ©X 2T DXR0G.

Printing
charges

24% a

Transportation
charges
8%

pdye

BSond8Ty
08 ngo

Author's
royaltics

30% 30%

18%

Advertisement

charges & )

If the author’s royalties amount to Rs. 30,000/- more than the printing charges, how much

will be the amount for advertisement charges ?

Soe piye Eod SSonddd) 08 nEo 30,000 &r. ) Hond, ([DHELDL PBY)
20& ?

(1) Rs. 60,000

(2) Rs. 45,000 (3) Rs. 75,000 VQ) Rs. 90,000

What is the angle of the sector for miscellaneous charges ?

388 pdY® Vg 0 dod ?

(1) 6°36' (2) {1224 'A 7219 @) 6°12'

If the cost of the paper and the transportation put together amounts to Rs. 70,000, then the
total expenditure incurred in bringing out the book is (in rupees)

s NSHw, Sarer pB© Iwdo 70,000 &r. wond, PV (HHSnEchy Do PAY)
(Srarahed®)

(1) 6,00,000 \/6) 5,00,000 (3) 5,40,000 (4) 4,50,000

9 P.T.O.
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49. The miscellaneous charges amount to Rs. 10,000 and a total of 13,000 copies of the book are
printed. What is the cost of each copy at which the book must be priced, if the publisher
desires a profit of 4% ?

288 pdyen 10,000 S ®Q, 13,000 [Hen é:o@otydﬁ) wHomro. (Dsess 4%
ergfo orared SHE 08, HRED) So Jod ©d dgowowrd ?

Vﬁ) Rs. 40 (2) Rs.36 (3) 'Rs. 52 (4) Rs.48
50. If the transportation charges are reduced by half, then how much is the saving if the binding
charges amount to Rs. 60,000 ?
Sarer e Do é{joéﬁ“oé, Bodoh e 60,000 & wond, Jod o vae
w)sod ?
(1) Rs. 15,000 (2) Rs.30,000 (3) Rs. 25,000 Vé} Rs. 20,000

Note for questions 51 to 55 :

In the bar diagram given below, the frequency distribution of workers in a factory is given
according to the number of dependents they have. Answer questions 51 to 55 basing on the data
given in the bar diagram :

51- 55 3% 0 Seud
2% éo‘&méo‘ﬁ‘ B B2 0 Jdoren, T0P BEESHE IO Dowge ¢ S (808 w6

o HHoS® © B a VDG Jgredo adgBod. & w8 Dot adyd Kol
way sar8o FEW (DHen 51-55 0 2a-dHg0d.
70
Literate Workers
60 wEomdg HAT D
50
[lliterate Workers
40 VEETrg BT
30
No. of
Workers 20
FoRvite) 10
Bowg
28 0

1 2 3 4 5 6
No. of Dependents esce 8D &0 ;f)o:pg _—

51. The total number of workers in the organization is
& HoRS® B T 370 Ingo Dowg
@ rd
(1) 150 \é) 200 3) 250 4 300
52. The ratio of literate workers to illiterate workers is
©E0™dg B T8, ABFodg DT EHO A8
(1) 2120 2). 20121 3) 2119 4) 19421

10
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53. The number of literate workers with atleast 3 dependents is

Ded Ko H=6 Zao:og

2

EAD0 i 18 8erd HAES THN), ©EU
(1) 50 ) 55 (3) 65 ﬁ) 45

54. The total number of dependents that all the workers have

R aw wamdaawwwd@iéwe ong
vﬁ) 560 (2) 650 (3) 580 @) 540

55. What is the percentage of illiterate workers among the total workers ?
&ubé.o B0 S* Mlets{ep2eV g S0 Joes?

(1) 48 Vé) 47.5 (3) 485 4) 525

(¢) Coding and Decoding (Marks : 10)
Note for questions 56 to 60 :
In a code, the n® letter in English alphabet is coded to K% letter, where
K = 3n + 2(mod 26), 1 £ K £ 26. For example, the 9™ Jletter I is coded as C,
since 3 X 9 + 2 = 29 = 3(mod 26) and C is the third letter. The reverse of this process is

used for decoding. Based on these coding and decoding processes, answer the questions
56 to 60.

56 - 60 S5 y0% JoouSS

K = 3n + 2(mod 26), 1 £ K <26 gwé 2301 n.(\: oaémvcé’sa n® wéo*’f()l
wilomr && 3@%, Gordrdnd 9 H v¥8o 1 & 3 % vgo C o §& IJ&.

Do&EoB 3 x 9+ 2 =29 =3(mod 26). &Y ST L‘”néul,:u) & &8 Fohae8 arard.
& §%G@0h, & §°&oh (DS oo HrHoW é\OJ 56-60 % 2= oﬁsow.

56. The code word for ICET is

ICET % §°& H&0

(1) 1 -"CKPJ (2) CKQI (3) CKQK \/ﬁ) CKQJ
57. The code word for JOLLY is

JOLLY 8 &§°& %o

(1): .. SHEY] (2) SORRY %) FULLY @) PETTY
58. The word coded as GJEJQ is

GJEJQ (8 i gﬁ «./\u..«c,)@w o\d‘)

(1) STATD \/6) STATE (3) STBTE (4) STATF

11 P.T.O.
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59, The word coded as DENCU is
DENCU r §°'& oedsd Hiso
%!) RADIO (2) DANCE (3) RADIC 4)
60. The word coded as KUOXMIQD is
KUOXMIQD e §°& Doberdd Do

(1) COMPLEXS M2) COMPUTER (3) COMMENCE  (4)

Note for questions 61 to 65 :

16AL-83

DELHI

COMPLETE

The vowels of the English alphabet are arranged alphabetically and among these vowels, the '
vowel is coded as (r + D™ vowel and the last as the first. The consonants of the English alphabet
are arranged alphabetically and among these consonants, the " consonant is coded as (r — 1)
consonant and the first as the last. For decoding, the inverse process is followed. Basing on these

coding and decoding processes, answer questions 61 to 65.

61 - 65 |BH)o%H SrES

20fi% ©EBIresT vdned wEE LS |855008° D) & oSSt 1 H odnd
(r+ 1) H o), D0 eind Wdd ol 86 FaPod. ohdd ©EY &POQ‘S‘;X)
Hrovod vl BB BP0’ ¢ &BQ & mmoé‘b rd e (r— 1) & e, a»ueﬁ

Sreud QDO e & JoHod. &

uFé & DS (Do ArBood. &t A3

G

?&05 8o & §'@oh L@Lg’g:&/@m JQ“éOI’T“ FoED, 61 Hod 65 H8B Ko ‘*'dleJ

POV ARTILISTNY @Tw@w

61. The code word for CRICKET is
CRICKET & §°& %0
(1) BQOBJAS (2) BQOBJAU \‘6 BQOBJIS 4)

62. Which word is coded as CORBUTIQ ?
9 $%o CORBUTIQ r §°& SoHhardod ?

(1) DISCLOSE (2) DISPLACE (3) DISPLAYS ‘(()

63. The code word for EVEREST is
EVEREST & §°6 $&o0
\A\ ITIQIRS (2) ITIQIRV (3) ITIQERS 4)
64. The code word for ENERGY is
ENERGY 8 §°& &0
(1) IMIQHZ (2) IMIQHX (3) IMISEX V{)

12

BQOBIJAV

DISCOVER

ITIQITS

IMIQFX
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65. Which word is coded as QEMFIQ ?
® H%0 QEMFIQ r §°& Sohardod ?
(1) RANGES (2) RANGER (3) PILGOP (4) SANGES

(d) Date, Time & Arrangement Problems (Marks : 10)

66. If the first day of a month is a Sunday, then the date of the Monday that comes after the
second Saturday of that month, is

8 oS S ' wdTEo wand, & Iost Bodd $dae80 SSares évﬁh\/

!
g{
Y
o
O
O

(hpeg 2) 9 (3) %15 % 16

67. Inaleap year, if January first is a Tuesday, then March second of that year falls on
28 O DoHSYBoS® wEHD IS BE LoAFSo wond, © dod&)Bos® wroy
Codsd 88 wdlyg Ser
\/ﬁ) Sunday (2) Monday (3) Tuesday (4) Saturday
(ETatvdefe Jvardo Dol 8o ZE0

9%}

68. Fifteen years ago the ages of a mother and her daughter were in the ratio 6 : 1. If the
present age of the daughter is 20 years. then the mother’s age, in years, after 5 years from
now, is

© (Bodd a8 SO Hdah Lrdie DoLye 6 1 1 dBS* ST ow.
DD HaHy 20 DodSyoren wond, QD0 5 QoS SHard &
v

Erddh D
2 A
SO Hadvn ooéé{) Sdmers®

(1) 40 (2) 45 \A) 50 (4) 55

69. The number of ways of arranging 4 men and 5 women alternately in a row so that the row
begins and ends with a woman, is
w8 HUHS® Bocses Wby VS By & od ASorrd, (58 agdd 9o g 2.8 Yk
G oBbE T HenthHdd QR B 2&hdd ggezﬁ) @EHONS drare Doy
(1) 280 () 720 VG) 2880 4) 3600

70. Five persons A, B, C, D, E are sitting around a table such that D is in-between A and E, C
is in-between A and B. Then the person sitting between B and D, is

ASES8EsD, A 8B 8N C sodirdw asord Rg&en A, B, C, D, E 28 2o
Sodr éJ'oS"QD G . @56;).)5’93 B&D3 zﬁ;qﬁg é)vﬁbél é&éﬂ

(1) A PPN 8 3) D 4) E

13 P.T.O.
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71. The number of times that the hours hand and minutes hand of a clock coincide in a day, is
0¥ Serd® 28 KBArEoS'D Hove ¥wew HHBoH AdndEwe ey D8P
DoarSwe Sowg

Vﬁ) 22 (2)., 23 3) 24 4) 26

72. A person M starts walking from a point P straight towards East. After walking 100 feet he
turns to left and walks 45 feet straight. He again turns left and walks a distance of 60 feet
straight. Then he turns to the left and walks a distance of 45 feet. The distance between M
and P in feet, is

M o3 $38 o8 Doty P od &rdy SHBH 8¥m HEBdo Imdes werdo. 100
w&ien HEDE SHhard wd D SYSLH 80H EHM 45 wdrben & Ve eh.
oS Do XEDHIHH 8dA 8K 60 wdHey HEVTE. P @8l D
% 5 800 45 odibe Srdo SEDod. M doy P o iy Ho &rdo,
wdHod®

(1) 60 @ 55 @) 45 vy 40

25 73. Pointing to a woman, a man said “The son of her only brother is the brother of my wife”.
EN How is the woman related to the man ?

28 9 BDL IrYEr .8 HERD aor voyde “udD IBE B § o, & °dg
8B © PERS © By & Ko wroddgin J?

(1) Grand mother (2) Sister
@é)&é)g/ SRSy Poplnta}

(3) Mother-in-law \41) Sister of father-in-law
&M Hoeomd IS0

74. The operator * is defined by the equation x * y = 2x + y for all real xand y. If 2 % a = a *
then the value of a =

W

o) T Dopgen x, y O BOEY * L x ¥y =2 +y BWEE0E SgOBER00.
2% a=a*3 wond, a g ded
() Ak 2 o 3) 1 @) 4

75. The number of 3 digit positive integers that leave the remainder 5 when divided by 7, is
7 F rAoddypd 5 » Fom 2@y e ddmen LON% $rdy¥ Yrorosto
Dowg 5
(1 142 (2 141 \é) 129 @) 128

14
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SECTION -B
Mathematical Ability
A3 TSged

Questions : 75 Marks : 75
(P80 : 75 Srdyen: 75
(i)  Arithmetical Ability (Marks : 35)

3 1

T 168 440 =

=

(1 17 \4) 13 3) 3 @), el

i g =
u:~h2
1 1
(M Va+yb (2 a3+b° \4) Afab 4) (ab)’
i b
78. If 81) = 5,55, then 4x + Sy =
(81Y —(243)5,@10“38, 4x + 5y =
(13 8 @ 3 G) 2 \/6 0
] B
g R ?g:l”(—)whcnp:q:
3q 7
).—g:m* oS, p:q=
v 6:7 o Dl i (3) 5:9 @ 9:5

o, [E3, N5
: L\ﬁ‘\/g \ﬁ+\/—§

\/(1) 1728 @) 1827 B) W14+410)° @ (12+2¢35)°

[O%]

15 R.T.0.
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The details of investment of three persons X, Y, Z in a common business are given below.
Out of a profit of Rs. 900, the share of X in rupees is

X Y iz Zbg_énoos 28 ﬁé)%@ a‘agﬁ"éo@si) b%paxé)o dHoeen (8085 a:ﬁszocg’a». 900 &.
S0t X arer Srarones’.

X Y Z

amount in Rs.
2080 &r.ost | 6:000 | 7,000 | 6,400

time in months
sc00 oo’

(1) 110 Vé) 150 (3) 350 (4) 400

2 -+ 5

A train running at a speed of 90 kmph takes 20 seconds to cross a bridge of length 150 m.
The length of the train in metres is

Kok 90 3.2, SHo8 &) a8 Tev 150 . PEY Ko DoSK oBodd
20 80 HA8 & Sew &Y ibmgéﬁ

%) 350 2) 100 (3)1850 4) 45
The least positive integer that leaves remainders 25, 37 and 53 respectively when divided |

by 36, 48 and 64 is
36, 48, 64 ©3 eNOWIT HEDIT 25, 37, 53 & Fareor™ AT EIP Jrgro¥o
(1) 576 (2) 574 (3) 567 vﬁ) 565

: 4 i 9
The least integer value of n such that 3 isaneven integer is

5
n—;l 0 Dopg SPareod n Gy KR yrgros Ded
(1) 2)" =4 \é) -3 4 3

A and B can do a work in 12 days; B and C in 15 days; C and A in 20 days. The number of
days required for all the three together to complete the work is

2& 999 A, B e 12 Ferostés, B, C o 15 Seostér, C, A o 20 Seod™®
Fodred. A,B,C e menﬁds" o od HA 0 Do Sleren

1) 30 (2). 20 3) 16 \/é) 10

An article is sold at a profit of 20%. Had it been sold at a profit of 25%, it would have
fetched Rs. 35 more. The cost price of the article (in rupees) is

28 SHD 20% orgrdd e, o8 WYL 25% OPrdd ey &o8 35 &».
Q&R S erefo HTB. & HwP ) Jo (Srroned®)

(1) 650 2) 700 (3)..:7508 (4) 800

16



